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0 0.05 | 0.10 0.15 0.30

1 0.08 | 0.15 0.10 0.33

2 0.20 | 0.12 0.05 0.37

p(x,) | 033 | 0.37 0.30 1

X 1 2 3 2
p(x,) | 033 | 037 | 0.30 1
Y : 1 2 2
ay,) | - | 033 | 037 1

+P[X =3)Y =1]++P[X =3,Y =2]

=0.05+0.10+0.15+0.15+0.10+0.05=0.6

P[X >Y]=P[X =1Y =0]+ P[X =2,Y =0]+ P[X =2,Y =1]+ P[X =3,Y =0]

P[X >2]=P[X =2]+P[X =4]=0.3+0.3=0.6
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p(x, /Y =2)| 20/37
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Ly, =(1)20/37)+(2)12/37)+(3)(5/37)=59/37
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1y =(1)0.33)+(2)(0.37)+(3)(0.30) =1.97

E[x2]= (1)*(0.33)+ (2)(0.37)+ (3)*(0.30) = 4.51

o?x =E[X?|-[u F =451-(1.97) =0.6291— &, =0.79

1, =(0)0.30)+(1)(0.33)+(2)0.37)=1.07

E[v2]=(0)?(0.30)+ (1)*(0.33)+ (2)?(0.37) = 1.81

o =E[Y?]-[1, F =1.81-(1.07) =1.81-1.14 = 0.67 - &, =0.82
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E[XY ]=(1x0)0.05)+(2x0)(0.10)+(3x 0)0.15) + (1x1)(0.08)+ (2x 1)(0.15) + (3x1)0.10)
+(1x2)0.20)+ (2% 2)(0.12) + (3% 2)(0.05) = 1.86
~ Cov[X,Y]=E[XY]- gy 11, =1.86-1.97 x1.07 =1.86 — 2.1079 = —0.2479
P o Gl
Cov[X,Y]  —0.2479

pX.Y)= oo, (079Y0.82) O°
T adall sy gl
1 2 3 4 5 2
p(t;) 0.05 0.18 0.50 | 0.22 | 0.05 1

1 =(1)(0.05)+(2)(0.18) +(3)0.50) + (4)(0.22) + 5(0.05) = 3.04
E(T?)=(1)?(0.05)+ (2)(0.18)+ (3)(0.50) + (4)?(0.22) + (5)?(0.05) = 10.04
o?(T)=E(T?)- ;> =10.04—(3.04) =0.8
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